STE 7 m47~ofocéﬁ1ﬂwz HAL: T3 202542 7 28 A

X | 1] 4 5 6 7 8 9 10 11 12 Y H#EH
N R6 | 65,622 62,673 63,746 64,810 63,966| 58,285 63,548] 65,858| 63,227 69,564| 62,834 67,421 65,622
7t R7 | 65,506 0 0 0 0 0 0 0 0 0 0 0| 65,506
A4 99.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 99.8
JEEA|TRE | 20,457 19,422] 19,228] 19,757 20,041 17,958] 19,815] 20,691 19,477 21,303 19,221 20,878| 20,457
| R7T| 20,444 0 0 0 0 0 0 0 0 0 0 ol 20,444
A4 99.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 99.9
B 5 | R6 2,941 2,812 2,918 2,812 2,617 2,502 2,583 2,762 2,748 3,197 2,874 3,097 2,941
| R7 2,900 0 0 0 0 0 0 0 0 0 0 0 2,900
A4 98.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 98.6
i ¥ | R6 1,886 1,987 1,945 2,061 1,883 1,796 1,831 2,140 2,061 2,140 2,063 1,992 1,886
# | R7 2,074 0 0 0 0 0 0 0 0 0 0 0 2,074
AAEEE 110.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 110.0
thPUE | R6 8,570 7,912 8,198 8,315 7,945 7,281 7,846 8,488 8,034 9,143 8,241 8,934 8,570
| R7 8,646 0 0 0 0 0 0 0 0 0 0 0 8,646
AAEEE 100.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.9
JuIN | R6 | 31,768 30,540 31,457 31,865 31,480 28,748| 31,473 31,777 30,907 33,781 30,435 32,520 31,768
# | R7T| 31,442 0 0 0 0 0 0 0 0 0 0 ol 31,442
A4 99.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 99.0
JbifEE | R6 3,346 3,230 3,243 3,322 3,250 3,018 3,263 3,347 3,194 3,487 2,907 3,396 3,346
R7 3,332 0 0 0 0 0 0 0 0 0 0 0 3,332

HI4E L 99.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 99.6
7k | R6 4,056 3,566 3,481 3,605 3,899 3,261 3,470 3,700 3,587 3,825 3,704 3,920 4,056
R7 3,901 0 0 0 0 0 0 0 0 0 0 0 3,901

HI4E L 96.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 96.2
=F [ RrRe | 11,665 11,130 11,206] 11,666] 11,396 10,540] 11,659 12,077 11,189 12,362 11,192 12,053 11,665
R7 | 11,900 0 0 0 0 0 0 0 0 0 0 ol 11,900

HI4E L 102.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 102.0
=% | R6 950 895 792 811 998 765 970 1,004 971] 1,101 898 967 950
R7 912 0 0 0 0 0 0 0 0 0 0 0 912

HI4E L 96.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 96.0
#*MH | R6 14 17 21 18 18 17 20 14 17 17 21 20 14
R7 16 0 0 0 0 0 0 0 0 0 0 0 16

HI4E L 114.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 114.3
7% | R6 261 259 267 193 228 196 216 260 269 220 266 257 261
R7 254 0 0 0 0 0 0 0 0 0 0 0 254

AR 97.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 97.3
e | R6 165 325 218 142 252 161 217 289 250 291 233 265 165
R7 129 0 0 0 0 0 0 0 0 0 0 0 129

HIAE L 78.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 78.2
k| R6 473 478 443 432 458 459 374 476 458 505 618 604 473
R7 697 0 0 0 0 0 0 0 0 0 0 0 697

AR 147.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 147.4
A | R6 69 61 70 44 48 48 71 51 65 70 55 61 69
R7 79 0 0 0 0 0 0 0 0 0 0 0 79

HIAE L 114.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 114.5
B | R6 528 564 645 629 608 542 555 624 613 634 557 641 528
R7 627 0 0 0 0 0 0 0 0 0 0 0 627

HIAE L 118.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 118.8
%E | R6 29 0 8 0 21 8 0 0 26 11 0 8 29
R7 18 0 0 0 0 0 0 0 0 0 0 0 18

HIAE L 62.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 62.1
T# | R6 756 663 730 742 545 588 690 624 651 788 657 668 756
R7 429 0 0 0 0 0 0 0 0 0 0 0 429

HIAE L 55.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 55.8
Wi | R6 0 0 0 0 0 0 0 0 0 0 2 1 0
R7 0 0 0 0 0 0 0 0 0 0 0 0 0

A4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wWZ5)1 | R6 2 1 1 1 1 1 0 0 1 0 1 0 2
R7 0 0 0 0 0 0 0 0 0 0 0 0 0

HAELE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MG 36 207 134 195 84 192 59 178 176 107 210 145 36
R7 132 0 0 0 0 0 0 0 0 0 0 0 132

A4 FE 366.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 366.7
£# | R6 407 260 285 208 293 193 280 241 200 403 206 352 407
R7 306 0 0 0 0 0 0 0 0 0 0 0 306

A4 FE 75.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 75.2
5 | R6 641 578 602 561 559 471 554 568 558 679 568 617 641
R7 619 0 0 0 0 0 0 0 0 0 0 0 619

A4 FE 96.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 96.6
&Il | R6 0 0 0 0 0 0 0 0 0 0 0 0 0
R7 0 0 0 0 0 0 0 0 0 0 0 0 0

A4 FE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
RS 0 0 0 0 0 0 0 0 0 0 0 0 0
R7 0 0 0 0 0 0 0 0 0 0 0 0 0

A4 FE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
wIF | R6 48 28 36 29 36 32 28 55 19 49 34 18 48
R7 59 0 0 0 0 0 0 0 0 0 0 0 59

HIAEEE 122.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 122.9
AT 564 516 530 528 445 449 471 487 526 535 468 599 564
R7 489 0 0 0 0 0 0 0 0 0 0 0 489

HIAEEE 86.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 86.7




STE 7 m47~ofocéﬁ1ﬂwz HAL: T3 202542 7 28 A
x5y | & 1H 4 5 6 7 8 9 10 11 12 Y H#EH
I & | R6 346 394 259 348 391 251 321 339 370 468 369 345 346

R7 482 0 0 0 0 0 0 0 0 0 0 0 482

HIAEEE 139.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 139.3
=4 | R6 424 475 580 469 505 461 500 509 562 540 512 526 424
R7 450 0 0 0 0 0 0 0 0 0 0 0 450

HIAEEE 106.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 106.1
= R6 228 110 301 238 171 229 182 343 155 210 294 186 228
R7 229 0 0 0 0 0 0 0 0 0 0 0 292

A4 97.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 97.4
waE | Re 26 26 27 48 44 35 36 44 48 42 35 36 26
R7 43 0 0 0 0 0 0 0 0 0 0 0 43

AAEEE 165.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 165.4
#S | R6 119 295 101 269 165 233 174 225 269 160 229 159 119
R7 195 0 0 0 0 0 0 0 0 0 0 0 195

AAEEE 163.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 163.9
KB | R6 0 0 0 0 0 0 0 0 0 0 0 0 0
R7 0 0 0 0 0 0 0 0 0 0 0 0 0

A4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=B | R6 16 5 0 0 8 11 0 0 11 11 0 11 16
R7 11 0 0 0 0 0 0 0 0 0 0 0 11

HI4E L 68.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 68.8
kil | R6 115 138 111 132 118 95 119 138 101 125 122 112 115
R7 123 0 0 0 0 0 0 0 0 0 0 0 123

AR 107.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 107.0
FJE | R6 1,310 1,014 1,248 1,195 1,157 1,003 1,212 1,181 1,083 1,383 1,142 1,349 1,310
R7 1,187 0 0 0 0 0 0 0 0 0 0 0 1,187

HI4E L 90.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 90.6
Bt | R6 1,136 1,445 1,748 1,410 1,719 1,241 1,712 1,536 1,641 1,617 1,727 1,508 1,136
R7 1,766 0 0 0 0 0 0 0 0 0 0 0 1,766

AR 155.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 155.5
EfE | R6 702 253 0 369 0 315 0 344 0 314 55 301 702
R7 71 0 0 0 0 0 0 0 0 0 0 0 71

HI4E L 10.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 10.1
L | R6 1,461 1,451 1,379 1,495 1,506 1,266 1,439 1,452 1,465| 1,599 1,431 1,608 1,461
R7 1,637 0 0 0 0 0 0 0 0 0 0 0 1,637

AR 112.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 112.0
I | R6 321 285 255 264 269 265 272 288 301 302 311 299 321
R7 305 0 0 0 0 0 0 0 0 0 0 0 305

HIAE L 95.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 95.0
(i1 [ Re 557 628 602 628 580 543 570 639 622 634 653 703 557
R7 591 0 0 0 0 0 0 0 0 0 0 0 591

HIAE L 106.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 106.1
e | Re 1,299 1,166 1,355 1,245 1,298 1,127 1,171 1,380 1,270 1,462 1,288 1,312 1,299
R7 1,225 0 0 0 0 0 0 0 0 0 0 0 1,225

HIAE L 94.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 94.3
#)l | R6 1,242 1,247 1,073 1,203 988 996 1,038 1,182 1,130] 1,340 1,185 1,333 1,242
R7 1,394 0 0 0 0 0 0 0 0 0 0 0 1,394

HIAE L 112.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 112.2
=% | R6 451 350 472 384 317 427 375 391 421 405 391 416 451
R7 365 0 0 0 0 0 0 0 0 0 0 0 365

HIAE L 80.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 80.9
=% | R6 91 73 66 122 111 98 57 95 101 87 58 105 91
R7 105 0 0 0 0 0 0 0 0 0 0 0 105

HIAE L 115.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 115.4
& | R6 435 415 706 355 613 335 443 540 381 659 363 390 435
R7 553 0 0 0 0 0 0 0 0 0 0 0 553

HIAE L 127.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 127.1
7% | R6 1,368 1,249 1,576 1,432 1,279 1,408 1,376 1,399 1,210 1,680 1,547 1,500 1,368
R7 1,419 0 0 0 0 0 0 0 0 0 0 0 1,419

HAELE 103.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 103.7
EIy | R6 1,748 1,354 1,444 1,397 1,504 1,450 1,552 1,272 1,823 1,240 1,637 1,497 1,748
R7 1,753 0 0 0 0 0 0 0 0 0 0 0 1,753

A4 FE 100.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.3
e R6 1,514 1,595 1,480 1,653 1,294 1,233 1,162 1,279 1,360] 1,880 1,113 1,445 1,514
R7 1,354 0 0 0 0 0 0 0 0 0 0 0 1,354

A4 89.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 89.4
X% | R6 799 635 529 815 550 675 492 697 738 613 886 809 799
R7 536 0 0 0 0 0 0 0 0 0 0 0 536

A4 FE 67.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 67.1
=R | R6 | 12,953 12,302 12,827 12,712] 13,260] 11,860 13,236] 12,908 12,854 13,885 12,381] 13,615 12,953
R7 | 12,610 0 0 0 0 0 0 0 0 0 0 ol 12,610

A4 I 97.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 97.4
BEWE [ R6 | 12,571 12,656 12,522 13,143] 12,640 11,482] 12,882 13,358 12,288 13,448] 12,170 12,879 12,571
R7 | 12,868 0 0 0 0 0 0 0 0 0 0 0o 12,868

A4 102.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 102.4
i | R6 380 334 373 358 340 305 330 324 253 376 338 385 380
R7 349 0 0 0 0 0 0 0 0 0 0 0 349

HIAEEE 91.8 0.0 0.0 0.0 o 0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 91.8
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